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Simplify using the Laws of Exponents. (3 i)
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. The sets of rational numbers and irrational numbers combine to

make the (whole, real) numbers.

. The product of 3a?b and —3a?b is (—9a*b?, a“b).

. The expression p

You would use the (Power of a Product rule, Product of Powers rule)
to simplify the expression (p2r)*.
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.5 is equal to (384, 288).

Another way to write (9%7is (97, 9%9).
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Scientific notation is when a number is written as a product
of a power of 10 and a factor greater than or equal to 1 and
(less than, less than or equal to) 10.




